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All hypothesis tests MUST include: 1. Clear statement of hypotheses 2. Clear statement
of critical vajue 3. Clear statement of formula used to calculate the standardized test
statistic 4. Clear conclusion: reject or do not reject Ho and answer the question. P
o P2 A e
1. A recent survey showed that @145 AHC students, 25 planned to transfer t(LUﬁCSB\‘; P2 - Cuegta

while for 130 students from Efﬂue}sta" the number who planned to transfer to UCSB was
nE j45 AHc 18 Test the claim that the population pmpggt,i_qn.of AHC students who plan to

transfer to B#EPoly gxceedy that of Cuesta students. Use alpha = 5%.
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2. The listing prices from a random sample of six homes in Santa Maria are given
below. At alpha = 5%, test the claim that the population/ear listing price of a home
in Santa Maria is no more than $340,000. You may assume that listing prices are
L normally distributed. H < 340.972 clpim 7 = 3336
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3. Give the name of the\hypothe ou would use to compare,the population-micgp
GPA of students at AHC, Cuesta College and SBCC. ¥=3 (ARHC, Carta, <Bce)

ANOVA

(one.wey onalygs ot varante)

4. Suppose the P-value of a hypothesis test is P = 0.0765. Do you reject Ho at
alpha = 5%? Explain.
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Po ot rejeet Ho.

5. Use the following sample data to test the claim that political affiliation and salary for
residents of a town are independent. Use alpha = 1%.
Incepenaent.

Alary”
<$25,000 $25,000- >$50,000 Total
$50,000
ik c«»\(' Liberal 45 87 37 169
-« (+.4+ ¥ Conservative | 27 42 20 89
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" Total 72 129 57 258
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. Aresearcher claims that on average a person’s left foot length will gxceed that
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. A CEO claims that the population variance of salaries at her company is less than
f22t

$3500. A random ggmple o mployees yielded|s? = $3019. Test the CEO’s claim
at ‘{_1%) level of significance. ‘
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their right foot. She randomly selects five individuals and records their left and right
foot lengths in cm. Using the data below, at alpha = 10%, test the researcher’s claim.
You may assume that foot lengths are normally distributed.

Subject 1 2 3 4 5

Left 263 183 218 292 243 X z00¢
Right 263 184 217 201 242 S 008qeq
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8. To tzﬁ th& &faim that the population p_rgg_?_)gj.gg of AHC students who work full time
st

?o :0‘14 is 1. 14%, you survey 210 AHC students and find 22 that work full time. At
o alpha = 10%, what do you conclude? '
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Support the claim.

9. A random sample of 3® workers in Bigtowp yielded a sampl¢ ean salary of $60,213
with a standard deviation of $7234,/For a random sample of 41 workers in_Littletown
the mean salary was $61,234 with standard deviation $7675. Test the claim that the
population mean salaries a;e;{hg@é_fbr the two towns. Use a 1% level of
significance.
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